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{c) Table 1 {8 marks)
Temperature of 30 75 70 65 o0 55
water
CCy . e ! s |
T 353 | 348 |343 |338 333 |328
(K)
Current 1 076 | 072 |068 |0.64 |060 056 [vV
| (A) | :
Potential difference | 1.40 | 1.50 | 1.55 [1.60 [1.70 |18 |vV
5050 y 1
; 185 (208 l228 |250; |28 |32l [
Resistance R= % (1)
‘Loz R (3 decimal 0.265 | 0.318 | 0.358 | 0.398 | 0452 [ 0507 | v
places)
Log T (3 decimal 2548 | 2541 | 2535 [ 2528 [ 2522 [ 2516 | ¥
- |Lplaces) L |
(e) s : (4 marks)
(1)
- (—5.5-4.0)x10 '
Slope S = v
v 5 2.51-2.528
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i) T_dg R=Log K+ riLngT
1
n = gradient
=_078
(i1) Log K = y-intercept

5

Log K = 0.63
K = antlog of 0.63 ¥
K = 4.265

=43 ¥
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QUESTION 2
PART A MARKING SCHEME

a) | Centimeter mark = 50.1cm

b) | () d=113em

{11) Weight of displaced water
pV=m v

w - mg - 10 yl0x25 N

d =0113m
o G e oty
e L T e
Vi = 19.5cm’
di = llcm
T (i) (1) Volume of water displaced
V=Vi-V
= 195-17
=2 Sem’
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d) [() Wx03=05x01 v |
W =0.166 '
=017N (2 marks)
(i) N = mg
20 A0=02N v
1000 (1 mark)
(ili)Loss in weight = 0.2 —0.17 (1 mark)
=0.03N
Total | 13 marks
PART B
e) (i) WhenU=15 (1 mark)
V=42
42
1 M -
(1) e
=28 (1 mark)
2.8x15
() f£= ETPE] (1 mark)
i = 11.05 &
(i) WhenU =18 (1mark)
V=29
» 29
M == ey
(i) M- 08
=16 (1 mark)
1.6x18
111 =
( }fl 1.6+1
- 11.08 (1 mark)
W L 11,05;11.03
=11.1 (1 mark)
Total 7 marks
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